JS≣

CURRENCY DERIVATIVES

CURRENCY FUTURES AND OPTIONS MATCHED TRADES

REPORT FOR 28/10/2014

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06

VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
8:04:25	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	210	210,000	11.0345		(2,317,245.00) Member	Sell
8:06:29	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.0415		(1,104,150.00) Member	Sell
8:06:29	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	100	100,000	11.0415		1,104,150.00 Client	Buy
8:17:14	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	17	17,000	11.0325		187,552.50 Member	Buy
8:17:14	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	17	17,000	11.0325		(187,552.50) Client	Sell
8:34:27	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	85	85,000	11.0283		(937,405.50) Client	Sell
8:34:27	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	93	93,000	11.0283		(1,025,631.90) Client	Sell
8:34:27	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	93	93,000	11.0283		1,025,631.90 Client	Buy
8:34:27	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	85	85,000	11.0283		937,405.50 Client	Buy
8:41:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.0350		11,035,000.00 Member	Buy
8:43:22	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.0350		11,035,000.00 Member	Buy
8:43:22	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	11.0350		(11,035,000.00) Client	Sell
8:45:59	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.0393		(5,519,650.00) Member	Sell
8:52:36	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	167	167,000	11.0408		1,843,813.60 Client	Buy
8:52:36	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	167	167,000	11.0408		(1,843,813.60) Member	Sell
9:06:46	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.0392		(55,196.00) Member	Sell
9:06:46	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.0392		55,196.00 Client	Buy
9:09:33	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.0312		(11,031.20) Member	Sell

Page 1 of 13 2014/10/28, 06:08:34PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:09:33	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.0312		11,031.20 Client	Buy
9:19:39	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	3	3,000	11.0213		33,063.90 Member	Buy
9:19:39	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	3	3,000	11.0213		(33,063.90) Client	Sell
9:25:13	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.0340		(220,680.00) Member	Sell
9:29:39	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.0340		220,680.00 Client	Buy
9:29:39	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	20	20,000	11.0340		(220,680.00) Member	Sell
9:44:48	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	28	28,000	11.0224		(308,627.20) Member	Sell
9:44:48	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	28	28,000	11.0224		308,627.20 Client	Buy
9:51:35	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	176	176,000	11.3700		2,001,120.00 Member	Buy
9:51:35	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	176	176,000	11.3700		(2,001,120.00) Client	Sell
9:57:24	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.0242		5,512,100.00 Member	Buy
9:57:24	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.0242		(5,512,100.00) Client	Sell
10:16:57	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	25	25,000	11.0325		275,812.50 Client	Buy
10:16:57	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	25	25,000	11.0325		(275,812.50) Member	Sell
10:24:45	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	11.3775		56,887,500.00 Member	Buy
10:29:06	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	11.3775		56,887,500.00 Member	Buy
10:29:06	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	5,000	5,000,000	11.3775		(56,887,500.00) Client	Sell
10:47:52	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	9	9,000	11.0280		99,252.00 Member	Buy
10:47:52	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	9	9,000	11.0280		(99,252.00) Client	Sell
11:06:07	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.0350		55,175.00 Member	Buy
11:06:07	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	11.0350		(55,175.00) Client	Sell
11:30:51	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.0376		(551,880.00) Member	Sell
11:30:51	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.0376		551,880.00 Client	Buy
11:37:53	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.0300		11,030.00 Client	Buy
11:58:34	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.0346		(11,034.60) Member	Sell
11:58:34	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.0346		11,034.60 Client	Buy
12:08:12	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.3928		(11,392.80) Member	Sell
12:08:12	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.3928		11,392.80 Client	Buy
12:36:17	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	6	6,000	11.0164		(66,098.40) Member	Sell
12:36:17	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	6	6,000	11.0164		66,098.40 Client	Buy
12:52:44	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.0200		110,200.00 Client	Buy
13:21:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.0144		550,720.00 Client	Buy
13:21:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.0144		(550,720.00) Member	Sell
13:23:05	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	6	6,000	11.0120		66,072.00 Member	Buy
13:23:05	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	6	6,000	11.0120		(66,072.00) Member	Sell
13:26:14	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.0063		22,012.60 Member	Buy
13:26:14	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	2	2,000	11.0063		(22,012.60) Client	Sell
13:27:43	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.0073		(11,007.30) Member	Sell
13:27:43	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.0073		11,007.30 Client	Buy
13:31:38	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.0063		11,006.30 Member	Buy
13:31:38	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	11.0063		(11,006.30) Client	Sell
13:33:29	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.0110		(110,110.00) Member	Sell
13:33:29	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.0110		110,110.00 Member	Buy

Page 2 of 13 2014/10/28, 06:08:34PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:33:29	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	11.0124		(5,506,200.00) Member	Sell
13:53:26	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	495	495,000	11.0037		5,446,831.50 Member	Buy
13:53:26	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	11.0035		(22,007,000.00) Client	Sell
13:53:26	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	405	405,000	11.0011		4,455,445.50 Member	Buy
13:53:26	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.0044		550,220.00 Member	Buy
13:53:26	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	600	600,000	11.0042		6,602,520.00 Member	Buy
13:53:26	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	400	400,000	11.0047		4,401,880.00 Member	Buy
13:53:26	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.0030		550,150.00 Client	Buy
14:22:02	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	16	16,000	11.3590		181,744.00 Member	Buy
14:22:02	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	16	16,000	11.3590		(181,744.00) Client	Sell
14:27:34	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	30	30,000	11.0090		(330,270.00) Member	Sell
14:27:34	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	30	30,000	11.0090		330,270.00 Client	Buy
14:30:03	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	150	150,000	11.0085		(1,651,275.00) Member	Sell
14:30:03	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	150	150,000	11.0085		1,651,275.00 Client	Buy
14:30:11	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	95	95,000	11.0052		1,045,494.00 Member	Buy
14:30:11	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	95	95,000	11.0052		(1,045,494.00) Member	Sell
14:32:57	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.0000		(110,000.00) Member	Sell
14:32:57	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	11.0000		110,000.00 Client	Buy
14:33:35	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.9950		(54,975.00) Member	Sell
14:33:35	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.9950		54,975.00 Client	Buy
14:33:41	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	11.3500		(34,050.00) Member	Sell
14:33:41	\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	11.3500		34,050.00 Client	Buy
14:33:45	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	30	30,000	10.9900		(329,700.00) Member	Sell
14:33:45	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	30	30,000	10.9900		329,700.00 Client	Buy
14:38:36	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.9962		5,498,100.00 Client	Buy
14:38:36	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.9962		(5,498,100.00) Member	Sell
14:50:43	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9982		109,982.00 Client	Buy
14:50:43	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9982		(109,982.00) Member	Sell
14:54:24	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	10.9867		10,986,700.00 Client	Buy
14:54:24	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	10.9867		(10,986,700.00) Member	Sell
15:01:36	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.9795		(10,979.50) Member	Sell
15:01:36	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1	1,000	10.9795		10,979.50 Client	Buy
15:04:51	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	10.9725		(2,194,500.00) Member	Sell
15:04:51	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	200	200,000	10.9725		2,194,500.00 Client	Buy
15:05:06	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		(109,700.00) Client	Sell
15:05:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	150	150,000	10.9718		(1,645,770.00) Member	Sell
15:05:31	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	600	600,000	10.9716		(6,582,960.00) Member	Sell
15:06:56	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	675	675,000	10.9716		(7,405,830.00) Member	Sell
15:06:56	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	75	75,000	11.0716		(830,370.00) Member	Sell
15:06:56	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	750	750,000	10.9816		8,236,200.00 Client	Buy
15:08:57	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.9796		(54,898.00) Member	Sell
15:08:57	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.9796		54,898.00 Client	Buy
15:18:14	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	30	30,000	10.9700		329,100.00 Client	Buy

Page 3 of 13 2014/10/28, 06:08:34PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
15:18:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	30	30,000	10.9700		(329,100.00) Client	Sell
15:18:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	90	90,000	10.9700		(987,300.00) Client	Sell
15:18:20	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9700		(109,700.00) Client	Sell
15:20:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	35	35,000	10.9700		(383,950.00) Client	Sell
15:20:35	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	35	35,000	10.9700		383,950.00 Member	Buy
15:29:12	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.9871		(5,493,550.00) Member	Sell
15:33:32	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9700		(109,700.00) Member	Sell
15:33:32	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9700		109,700.00 Client	Buy
15:59:11	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.9800		(21,960.00) Member	Sell
16:03:01	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	200	200,000	11.1690		(2,233,800.00) Member	Sell
16:03:01	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	420	420,000	11.1694		(4,691,148.00) Member	Sell
16:03:01	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	620	620,000	11.1693		6,924,966.00 Client	Buy
16:03:33	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	380	380,000	11.3456		(4,311,328.00) Member	Sell
16:03:33	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	380	380,000	11.3456		4,311,328.00 Client	Buy
16:08:11	\$ / R 11/12/2015	Foreign Exchange Future	С	10.95	1	1,000	4,331	4,331,000	996.1100		(4,314,152,410.00) Member	Sell
16:08:11	\$ / R 11/12/2015	Foreign Exchange Future	С	13.10	1	1,000	13,248	13,248,000	317.2300		4,202,663,040.00 Member	Buy
16:08:11	\$ / R 11/12/2015	Foreign Exchange Future	Р	10.95	1	1,000	8,917	8,917,000	237.6100		(2,118,768,370.00) Member	Sell
16:08:11	\$ / R 12/12/2014	Foreign Exchange Future	С	10.30	1	1,000	1,130	1,130,000	688.2400		777,711,200.00 Member	Buy
16:08:11	\$ / R 12/12/2014	Foreign Exchange Future	С	12.30	1	1,000	1,130	1,130,000	3.0100		(3,401,300.00) Member	Sell
16:08:11	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.10	1	1,000	6,581	6,581,000	0.4700		3,093,070.00 Member	Buy
16:08:11	\$ / R 12/12/2014	Foreign Exchange Future	С	10.10	1	1,000	1,260	1,260,000	885.5300		1,115,767,800.00 Member	Buy
16:08:11	\$ / R 12/12/2014	Foreign Exchange Future	С	12.10	1	1,000	7,841	7,841,000	6.0400		(47,359,640.00) Member	Sell
16:11:56	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	3	3,000	10.9800		(32,940.00) Member	Sell
16:11:56	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.9800		54,900.00 Client	Buy
16:13:40	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.9710		(2,194,200.00) Member	Sell
16:13:40	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.9710		2,194,200.00 Client	Buy
16:14:22	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.9675		(2,193,500.00) Member	Sell
16:14:22	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	10.9675		2,193,500.00 Client	Buy
16:18:06	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.9745		(10,974,500.00) Member	Sell
16:19:04	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.9650		(54,825.00) Member	Sell
16:19:04	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.9650		54,825.00 Client	Buy
16:24:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	30	30,000	10.9500		(328,500.00) Member	Sell
16:24:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.9500		(1,095,000.00) Member	Sell
16:24:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9500		(109,500.00) Member	Sell
16:24:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9500		109,500.00 Client	Buy
16:24:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	30	30,000	10.9500		328,500.00 Client	Buy
16:26:53	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	11.3000		(33,900.00) Member	Sell
16:26:53	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	11.3000		33,900.00 Client	Buy
16:29:10	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.9450		547,250.00 Member	Buy
16:30:07	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.9445		(547,225.00) Client	Sell
16:30:07	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	50	50,000	10.9445		547,225.00 Member	Buy
16:31:41	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	4,000	4,000,000	11.1215		(44,486,000.00) Member	Sell
16:31:41	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	4,000	4,000,000	11.1215		44,486,000.00 Client	Buy

Page 4 of 13 2014/10/28, 06:08:34PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:33:19	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9473		(109,473.00) Member	Sell
16:33:19	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9473		109,473.00 Client	Buy
16:35:10	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	10.9845		10,984,500.00 Client	Buy
16:35:10	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	10.9845		(10,984,500.00) Member	Sell
16:40:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9491		(109,491.00) Member	Sell
16:40:01	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9491		109,491.00 Client	Buy
16:43:19	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.9477		(5,473,850.00) Member	Sell
16:43:26	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9505		(109,505.00) Member	Sell
16:43:49	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		109,700.00 Client	Buy
16:43:49	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		(109,700.00) Member	Sell
16:44:42	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	450	450,000	10.9477		(4,926,465.00) Member	Sell
16:44:42	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	50	50,000	11.0477		(552,385.00) Member	Sell
16:44:42	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	500	500,000	10.9577		5,478,850.00 Client	Buy
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		109,700.00 Client	Buy
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		109,700.00 Client	Buy
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		109,700.00 Client	Buy
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		109,700.00 Client	Buy
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		(109,700.00) Member	Sell
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		109,700.00 Client	Buy
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	15	15,000	10.9700		164,550.00 Client	Buy
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		109,700.00 Client	Buy
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		109,700.00 Client	Buy
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		(109,700.00) Member	Sell
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		(109,700.00) Member	Sell
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		(109,700.00) Member	Sell
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		(109,700.00) Member	Sell
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		(109,700.00) Member	Sell
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	5	5,000	10.9700		(54,850.00) Member	Sell
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	10	10,000	10.9700		(109,700.00) Member	Sell
16:45:37	\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	15	15,000	10.9700		(164,550.00) Member	Sell
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	545	545,000	314.2300		171,255,350.00 Member	Buy
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	838	838,000	314.2300		(263,324,740.00) Client	Sell
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	482	482,000	314.2300		151,458,860.00 Member	Buy
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	476	476,000	314.2300		(149,573,480.00) Client	Sell
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	545	545,000	314.2300		(171,255,350.00) Client	Sell
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	2,535	2,535,000	314.2300		(796,573,050.00) Client	Sell
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	482	482,000	314.2300		(151,458,860.00) Client	Sell
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	476	476,000	314.2300		149,573,480.00 Member	Buy
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	6,488	6,488,000	314.2300		(2,038,724,240.00) Client	Sell
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	1,884	1,884,000	314.2300		(592,009,320.00) Client	Sell
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	1,884	1,884,000	314.2300		592,009,320.00 Member	Buy
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	6,488	6,488,000	314.2300		2,038,724,240.00 Member	Buy
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	C 13.10	1	1,000	2,535	2,535,000	314.2300		796,573,050.00 Member	Buy

Page 5 of 13 2014/10/28, 06:08:34PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:46:21	\$ / R 11/12/2015	Foreign Exchange Future	С	13.10	1	1,000	838	838,000	314.2300		263,324,740.00 Member	Buy
16:49:34	\$ / R 11/12/2015	Foreign Exchange Future	С	10.95	1	1,000	2,535	2,535,000	999.1100		2,532,743,850.00 Client	Buy
16:49:34	\$ / R 11/12/2015	Foreign Exchange Future	С	10.95	1	1,000	838	838,000	999.1100		(837,254,180.00) Member	Sell
16:49:34	\$ / R 11/12/2015	Foreign Exchange Future	С	10.95	1	1,000	482	482,000	999.1100		481,571,020.00 Client	Buy
16:49:34	\$ / R 11/12/2015	Foreign Exchange Future	С	10.95	1	1,000	476	476,000	999.1100		475,576,360.00 Client	Buy
16:49:34	\$ / R 11/12/2015	Foreign Exchange Future	С	10.95	1	1,000	482	482,000	999.1100		(481,571,020.00) Member	Sell
16:49:34	\$ / R 11/12/2015	Foreign Exchange Future	С	10.95	1	1,000	476	476,000	999.1100		(475,576,360.00) Member	Sell
16:49:34	\$ / R 11/12/2015	Foreign Exchange Future	С	10.95	1	1,000	838	838,000	999.1100		837,254,180.00 Client	Buy
16:49:34	\$ / R 11/12/2015	Foreign Exchange Future	С	10.95	1	1,000	2,535	2,535,000	999.1100		(2,532,743,850.00) Member	Sell
16:50:13	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.9487		(5,474,350.00) Member	Sell
16:50:53	\$ / R 11/12/2015	Foreign Exchange Future	Р	10.95	1	1,000	545	545,000	240.6100		(131,132,450.00) Member	Sell
16:50:53	\$ / R 11/12/2015	Foreign Exchange Future	Р	10.95	1	1,000	6,488	6,488,000	240.6100		(1,561,077,680.00) Member	Sell
16:50:53	\$ / R 11/12/2015	Foreign Exchange Future	Р	10.95	1	1,000	6,488	6,488,000	240.6100		1,561,077,680.00 Client	Buy
16:50:53	\$ / R 11/12/2015	Foreign Exchange Future	Р	10.95	1	1,000	545	545,000	240.6100		131,132,450.00 Client	Buy
16:50:53	\$ / R 11/12/2015	Foreign Exchange Future	Р	10.95	1	1,000	1,884	1,884,000	240.6100		(453,309,240.00) Member	Sell
16:50:53	\$ / R 11/12/2015	Foreign Exchange Future	Р	10.95	1	1,000	1,884	1,884,000	240.6100		453,309,240.00 Client	Buy
16:51:35	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.10	1	1,000	6,581	6,581,000	0.4700		3,093,070.00 Member	Buy
16:51:35	\$ / R 12/12/2014	Foreign Exchange Future	Р	10.10	1	1,000	6,581	6,581,000	0.4700		(3,093,070.00) Client	Sell
16:52:26	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9468		(109,468.00) Member	Sell
16:52:26	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9468		109,468.00 Client	Buy
16:53:00	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.9487		(54,743.50) Member	Sell
16:53:05	\$ / R 12/12/2014	Foreign Exchange Future	С	12.10	1	1,000	1,260	1,260,000	6.0400		7,610,400.00 Client	Buy
16:53:05	\$ / R 12/12/2014	Foreign Exchange Future	С	12.10	1	1,000	6,581	6,581,000	6.0400		39,749,240.00 Client	Buy
16:53:05	\$ / R 12/12/2014	Foreign Exchange Future	С	12.10	1	1,000	1,260	1,260,000	6.0400		(7,610,400.00) Member	Sell
16:53:05	\$ / R 12/12/2014	Foreign Exchange Future	С	12.10	1	1,000	6,581	6,581,000	6.0400		(39,749,240.00) Member	Sell
16:54:01	\$ / R 12/12/2014	Foreign Exchange Future	С	12.30	1	1,000	1,130	1,130,000	3.0100		3,401,300.00 Client	Buy
16:54:01	\$ / R 12/12/2014	Foreign Exchange Future	С	12.30	1	1,000	1,130	1,130,000	3.0100		(3,401,300.00) Member	Sell
16:54:34	\$ / R 12/12/2014	Foreign Exchange Future	С	10.30	1	1,000	1,130	1,130,000	684.2400		(773,191,200.00) Client	Sell
16:54:34	\$ / R 12/12/2014	Foreign Exchange Future	С	10.30	1	1,000	1,130	1,130,000	684.2400		773,191,200.00 Member	Buy
16:54:51	\$ / R 12/12/2014	Foreign Exchange Future	С	10.10	1	1,000	1,260	1,260,000	881.5300		(1,110,727,800.00) Client	Sell
16:54:51	\$ / R 12/12/2014	Foreign Exchange Future	С	10.10	1	1,000	1,260	1,260,000	881.5300		1,110,727,800.00 Member	Buy
16:54:57	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9493		(109,493.00) Member	Sell
16:55:44	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.9450		1,094,500.00 Member	Buy
16:55:44	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.9450		(1,094,500.00) Client	Sell
16:55:46	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.9487		54,743.50 Client	Buy
16:55:46	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5	5,000	10.9487		(54,743.50) Member	Sell
16:55:54	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9505		109,505.00 Client	Buy
16:55:54	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9505		(109,505.00) Member	Sell
16:56:20	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.9493		21,898.60 Client	Buy
16:56:20	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	4	4,000	10.9493		(43,797.20) Member	Sell
16:56:20	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.9493		(21,898.60) Member	Sell
16:56:20	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	4	4,000	10.9493		43,797.20 Client	Buy
16:56:20	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	4	4,000	10.9493		(43,797.20) Member	Sell

Page 6 of 13 2014/10/28, 06:08:34PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:56:20	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	4	4,000	10.9493		43,797.20 Client	Buy
16:56:36	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	85	85,000	10.9474		(930,529.00) Member	Sell
16:56:36	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	85	85,000	10.9474		930,529.00 Member	Buy
16:57:09	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	15	15,000	10.9499		164,248.50 Member	Buy
16:57:09	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	15	15,000	10.9499		(164,248.50) Member	Sell
16:57:19	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9499		(109,499.00) Member	Sell
16:57:19	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9499		109,499.00 Client	Buy
17:00:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	10.9448		(54,724,000.00) Member	Sell
17:16:56	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.9398		10,939,800.00 Member	Buy
17:16:56	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	10.9398		54,699,000.00 Member	Buy
17:20:30	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	3	3,000	10.9700		32,910.00 Member	Buy
17:20:58	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.9700		21,940.00 Client	Buy
17:20:58	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2	2,000	10.9700		(21,940.00) Member	Sell
17:25:21	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	11.3015		(22,603,000.00) Member	Sell
17:25:22	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	10.9398		(54,699,000.00) Client	Sell
17:25:22	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	5,000	5,000,000	10.9398		54,699,000.00 Member	Buy
17:26:02	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	9,300	9,300,000	176.1300		1,638,009,000.00 Member	Buy
17:26:02	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.80	1	1,000	9,300	9,300,000	156.0500		(1,451,265,000.00) Member	Sell
17:31:26	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5,800	5,800,000	11.1020		(64,391,600.00) Member	Sell
17:36:09	\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	5,800	5,800,000	11.1130		64,455,400.00 Member	Buy
17:36:23	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.9398		10,939,800.00 Member	Buy
17:36:23	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	1,000	1,000,000	10.9398		(10,939,800.00) Client	Sell
17:36:50	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2,350	2,350,000	10.9448		25,720,280.00 Client	Buy
17:36:50	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2,415	2,415,000	10.9448		(26,431,692.00) Member	Sell
17:36:50	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2,415	2,415,000	10.9448		26,431,692.00 Client	Buy
17:36:50	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	2,350	2,350,000	10.9448		(25,720,280.00) Member	Sell
17:36:50	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	225	225,000	10.9448		2,462,580.00 Client	Buy
17:36:50	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	225	225,000	10.9448		(2,462,580.00) Member	Sell
17:36:50	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9448		(109,448.00) Member	Sell
17:36:50	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	10.9448		109,448.00 Client	Buy
17:38:55	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	11.3015		(22,603,000.00) Member	Sell
17:38:55	\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	11.3015		22,603,000.00 Client	Buy
17:42:59	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	500	500,000	10.9370		5,468,500.00 Member	Buy
17:47:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	511	511,000	10.9388		5,589,726.80 Member	Buy
17:47:14	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	511	511,000	10.9388		(5,589,726.80) Client	Sell
17:47:23	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.9500		(1,095,000.00) Member	Sell
17:47:23	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	100	100,000	10.9500		1,095,000.00 Client	Buy
17:47:33	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	210	210,000	11.0345		2,317,245.00 Client	Buy
17:47:33	\$ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	210	210,000	11.0345		(2,317,245.00) Member	Sell
17:50:40	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.80	1	1,000	2,254	2,254,000	156.0500		(351,736,700.00) Member	Sell
17:50:40	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.80	1	1,000	2,254	2,254,000	156.0500		351,736,700.00 Client	Buy
17:50:40	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.80	1	1,000	2,012	2,012,000	156.0500		313,972,600.00 Client	Buy
17:50:40	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.80	1	1,000	2,012	2,012,000	156.0500		(313,972,600.00) Member	Sell

Page 7 of 13 2014/10/28, 06:08:34PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Premium Value Trade Rate Type	Buy/ Sell
17:50:40	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.80	1	1,000	1,385	1,385,000	156.0500	(216,129,250.00) Member	Sell
17:50:40	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.80	1	1,000	2,460	2,460,000	156.0500	383,883,000.00 Client	Buy
17:50:40	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.80	1	1,000	1,385	1,385,000	156.0500	216,129,250.00 Client	Buy
17:50:40	\$ / R 16/03/2015	Foreign Exchange Future	Р	10.80	1	1,000	2,460	2,460,000	156.0500	(383,883,000.00) Member	Sell
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	1,809	1,809,000	176.1300	318,619,170.00 Member	Buy
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	2,012	2,012,000	162.1300	(326,205,560.00) Client	Sell
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	225	225,000	36.1300	8,129,250.00 Member	Buy
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	2	2,000	162.1300	324,260.00 Member	Buy
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	246	246,000	36.1300	8,887,980.00 Member	Buy
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	4	4,000	162.1300	648,520.00 Member	Buy
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	2,254	2,254,000	162.1300	(365,441,020.00) Client	Sell
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	2,460	2,460,000	162.1300	(398,839,800.00) Client	Sell
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	1,242	1,242,000	176.1300	218,753,460.00 Member	Buy
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	5	5,000	162.1300	810,650.00 Member	Buy
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	138	138,000	36.1300	4,985,940.00 Member	Buy
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	201	201,000	36.1300	7,262,130.00 Member	Buy
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	2,025	2,025,000	176.1300	356,663,250.00 Member	Buy
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	2,214	2,214,000	176.1300	389,951,820.00 Member	Buy
17:55:30	\$ / R 16/03/2015	Foreign Exchange Future	С	11.54	1	1,000	1,385	1,385,000	162.1300	(224,550,050.00) Client	Sell
Total Futu	ires				111		51,370	51,370,000		569 170 201.35	
Total Opti	ons				37		92,179	92,179,000		22 990 210 225.00	
Total for \$	/ R Foreign Exchange	Future			148		143,549	143,549,000		23,559,380,426.35	
11:11:46	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	4	400,000	11.0278	(4,411,120.00) Member	Sell
11:11:46	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	4	400,000	11.0278	4,411,120.00 Member	Buy
11:11:47	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	1	100,000	11.0277	(1,102,770.00) Member	Sell
11:11:47	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	1	100,000	11.0277	1,102,770.00 Member	Buy
12:08:31	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	5	500,000	11.0331	(5,516,550.00) Member	Sell
12:12:58	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	1	100,000	11.0331	(1,103,310.00) Member	Sell
12:15:52	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	2	200,000	11.0331	(2,206,620.00) Member	Sell
12:15:52	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	3	300,000	11.0331	(3,309,930.00) Member	Sell
12:15:52	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	2	200,000	11.0331	2,206,620.00 Client	Buy
	\$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00	1	100,000	3	300,000	11.0331	3,309,930.00 Client	Buy
12:15:52	\$ / K WANT 12/12/2014	0 0								(1,103,310.00) Member	Call
12:15:52 12:16:00	\$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014			0.00	1	100,000	1	100,000	11.0331	(1,103,310.00) Weilibei	Sell
		Foreign Exchange Future		0.00	1 1	100,000 100,000	1 1	100,000 100,000	11.0331 11.0331	1,103,310.00 Client	Buy
12:16:00	\$ / R MAXI 12/12/2014	Foreign Exchange Future Foreign Exchange Future			1 1 1		1 1 4				
12:16:00 12:16:00	\$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future		0.00		100,000		100,000	11.0331	1,103,310.00 Client	Buy
12:16:00 12:16:00 12:39:47	\$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future		0.00	1	100,000 100,000	4	100,000 400,000	11.0331 11.0122	1,103,310.00 Client (4,404,880.00) Member	Buy Sell
12:16:00 12:16:00 12:39:47 12:39:47	\$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future		0.00 0.00 0.00	1 1	100,000 100,000 100,000	4	100,000 400,000 400,000	11.0331 11.0122 11.0122	1,103,310.00 Client (4,404,880.00) Member 4,404,880.00 Member	Buy Sell Buy
12:16:00 12:16:00 12:39:47 12:39:47 12:39:51	\$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00 0.00 0.00 0.00	1 1 1	100,000 100,000 100,000 100,000	4 4 1	100,000 400,000 400,000 100,000	11.0331 11.0122 11.0122 11.0119	1,103,310.00 Client (4,404,880.00) Member 4,404,880.00 Member (1,101,190.00) Member	Buy Sell Buy Sell
12:16:00 12:16:00 12:39:47 12:39:47 12:39:51 12:39:51	\$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014 \$ / R MAXI 12/12/2014	Foreign Exchange Future		0.00 0.00 0.00 0.00 0.00	1 1 1 1	100,000 100,000 100,000 100,000 100,000	4 4 1	100,000 400,000 400,000 100,000 100,000	11.0331 11.0122 11.0122 11.0119 11.0119	1,103,310.00 Client (4,404,880.00) Member 4,404,880.00 Member (1,101,190.00) Member 1,101,190.00 Member	Buy Sell Buy Sell Buy

Page 8 of 13 2014/10/28, 06:08:34PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Premium Value Trade Rate Type	Buy/ Sell
12:52:01	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	1	100,000	11.0198	1,101,980.00 Member	Buy
13:43:47	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	4	400,000	11.0049	(4,401,960.00) Member	Sell
13:43:47	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	4	400,000	11.0049	4,401,960.00 Member	Buy
13:44:08	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	4	400,000	11.0032	(4,401,280.00) Member	Sell
13:44:08	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	4	400,000	11.0032	4,401,280.00 Member	Buy
14:15:29	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	2	200,000	11.0075	(2,201,500.00) Member	Sell
14:15:29	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	2	200,000	11.0075	2,201,500.00 Member	Buy
14:33:27	\$ / R MAXI 16/03/2015	Foreign Exchange Future	0.00	1	100,000	6	600,000	11.1666	(6,699,960.00) Member	Sell
14:33:27	\$ / R MAXI 16/03/2015	Foreign Exchange Future	0.00	1	100,000	6	600,000	11.1666	6,699,960.00 Member	Buy
15:07:27	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	6	600,000	10.9697	(6,581,820.00) Member	Sell
15:07:27	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	6	600,000	10.9697	6,581,820.00 Member	Buy
15:16:01	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	4	400,000	10.9703	(4,388,120.00) Member	Sell
15:16:01	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	4	400,000	10.9703	4,388,120.00 Member	Buy
15:50:31	\$ / R MAXI 16/03/2015	Foreign Exchange Future	0.00	1	100,000	4	400,000	11.1514	(4,460,560.00) Member	Sell
15:50:31	\$ / R MAXI 16/03/2015	Foreign Exchange Future	0.00	1	100,000	4	400,000	11.1514	4,460,560.00 Member	Buy
16:13:03	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	4	400,000	10.9719	(4,388,760.00) Member	Sell
16:13:03	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	4	400,000	10.9719	4,388,760.00 Member	Buy
16:20:59	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	4	400,000	10.9555	(4,382,200.00) Member	Sell
16:20:59	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	4	400,000	10.9555	4,382,200.00 Member	Buy
16:21:04	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	1	100,000	10.9535	(1,095,350.00) Member	Sell
16:21:04	\$ / R MAXI 12/12/2014	Foreign Exchange Future	0.00	1	100,000	1	100,000	10.9535	1,095,350.00 Member	Buy
Total Futi	ures			20		63	6,300,000		69 460 760.00	
Total Opt	ions									
Total for	\$ / R MAXI Foreign Excl	hange Future		20					69,460,760.00	
						63	6,300,000			
8:17:14	£/R 12/12/2014	Foreign Exchange Future	0.00	 1	1,000	63 11	11,000	17.7830	195,613.00 Member	Buy
	£ / R 12/12/2014 £ / R 12/12/2014	Foreign Exchange Future Foreign Exchange Future	0.00		1,000 1,000			17.7830 17.7830	195,613.00 Member (195,613.00) Client	Buy Sell
8:17:14		-		1		11	11,000			-
8:17:14 8:17:14	£ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	11 11	11,000 11,000	17.7830	(195,613.00) Client	Sell
8:17:14 8:17:14 9:30:01	£ / R 12/12/2014 £ / R 12/12/2014	Foreign Exchange Future Foreign Exchange Future	0.00 0.00	1 1 1	1,000 1,000	11 11 30	11,000 11,000 30,000	17.7830 17.7778	(195,613.00) Client 533,334.00 Client	Sell Buy
8:17:14 8:17:14 9:30:01 9:30:01 11:18:05	£ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00	1 1 1	1,000 1,000 1,000	11 11 30 30	11,000 11,000 30,000 30,000	17.7830 17.7778 17.7778	(195,613.00) Client 533,334.00 Client (533,334.00) Member	Sell Buy Sell
8:17:14 8:17:14 9:30:01 9:30:01 11:18:05	£ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/06/2015	Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future Foreign Exchange Future	0.00 0.00 0.00 0.00	1 1 1 1	1,000 1,000 1,000 1,000	11 11 30 30 20	11,000 11,000 30,000 30,000 20,000	17.7830 17.7778 17.7778 18.3016	(195,613.00) Client 533,334.00 Client (533,334.00) Member (366,032.00) Member	Sell Buy Sell Sell
8:17:14 8:17:14 9:30:01 9:30:01 11:18:05 11:18:05	£ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/06/2015 £ / R 12/06/2015	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00	1 1 1 1 1	1,000 1,000 1,000 1,000 1,000	11 11 30 30 20 20	11,000 11,000 30,000 30,000 20,000 20,000	17.7830 17.7778 17.7778 18.3016 18.3016	(195,613.00) Client 533,334.00 Client (533,334.00) Member (366,032.00) Member 366,032.00 Client	Sell Buy Sell Sell Buy
8:17:14 8:17:14 9:30:01 9:30:01 11:18:05 11:18:33	£ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/06/2015 £ / R 12/06/2015 £ / R 16/03/2015	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00	1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000	11 11 30 30 20 20 20	11,000 11,000 30,000 30,000 20,000 20,000 200,000	17.7830 17.7778 17.7778 18.3016 18.3016 18.0237	(195,613.00) Client 533,334.00 Client (533,334.00) Member (366,032.00) Member 366,032.00 Client (3,604,740.00) Member	Sell Buy Sell Sell Buy Sell
8:17:14 8:17:14 9:30:01 9:30:01 11:18:05 11:18:33 12:18:33	£ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/06/2015 £ / R 12/06/2015 £ / R 16/03/2015 £ / R 16/03/2015	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000	11 11 30 30 20 20 20 200	11,000 11,000 30,000 30,000 20,000 20,000 200,000 200,000	17.7830 17.7778 17.7778 18.3016 18.3016 18.0237	(195,613.00) Client 533,334.00 Client (533,334.00) Member (366,032.00) Member 366,032.00 Client (3,604,740.00) Member 3,604,740.00 Member	Sell Buy Sell Sell Buy Sell Buy
8:17:14 8:17:14 9:30:01 9:30:01 11:18:05 11:18:33 12:18:33 12:53:20	£ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/06/2015 £ / R 12/06/2015 £ / R 16/03/2015 £ / R 16/03/2015 £ / R 16/12/2014	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000	11 11 30 30 20 20 200 200 200 300	11,000 11,000 30,000 30,000 20,000 200,000 200,000 300,000	17.7830 17.7778 17.7778 18.3016 18.3016 18.0237 18.0237 17.7452	(195,613.00) Client 533,334.00 Client (533,334.00) Member (366,032.00) Member 366,032.00 Client (3,604,740.00) Member 3,604,740.00 Member (5,323,560.00) Member	Sell Buy Sell Sell Buy Sell Buy Sell Buy Sell
8:17:14 8:17:14 9:30:01 9:30:01 11:18:05 11:18:05 12:18:33 12:18:33 12:53:20	£ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/06/2015 £ / R 12/06/2015 £ / R 16/03/2015 £ / R 16/03/2015 £ / R 12/12/2014 £ / R 12/12/2014	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00	1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	11 11 30 30 20 20 200 200 200 300 500	11,000 11,000 30,000 30,000 20,000 20,000 200,000 200,000 300,000 500,000	17.7830 17.7778 17.7778 18.3016 18.3016 18.0237 18.0237 17.7452 17.7450	(195,613.00) Client 533,334.00 Client (533,334.00) Member (366,032.00) Member 366,032.00 Client (3,604,740.00) Member 3,604,740.00 Member (5,323,560.00) Member (8,872,500.00) Member	Sell Buy Sell Sell Buy Sell Buy Sell Buy Sell Sell
8:17:14 8:17:14 9:30:01 9:30:01 11:18:05 11:18:05 12:18:33 12:53:20 12:53:20 12:53:20	£ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/06/2015 £ / R 12/06/2015 £ / R 16/03/2015 £ / R 16/03/2015 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	11 11 30 30 20 20 20 200 200 300 500	11,000 11,000 30,000 30,000 20,000 20,000 200,000 200,000 300,000 500,000	17.7830 17.7778 17.7778 18.3016 18.3016 18.0237 18.0237 17.7452 17.7450 17.7450	(195,613.00) Client 533,334.00 Client (533,334.00) Member (366,032.00) Member 366,032.00 Client (3,604,740.00) Member 3,604,740.00 Member (5,323,560.00) Member (8,872,500.00) Member 8,872,500.00 Member	Sell Buy Sell Sell Buy Sell Buy Sell Buy Sell Sell Buy
8:17:14 8:17:14 9:30:01 9:30:01 11:18:05 11:18:05 12:18:33 12:53:20 12:53:20 12:53:20 12:53:20	£ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/06/2015 £ / R 12/06/2015 £ / R 16/03/2015 £ / R 16/03/2015 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	11 11 30 30 20 20 200 200 300 500 500	11,000 11,000 30,000 30,000 20,000 20,000 200,000 300,000 500,000 300,000	17.7830 17.7778 17.7778 18.3016 18.3016 18.0237 18.0237 17.7452 17.7450 17.7450 17.7452	(195,613.00) Client 533,334.00 Client (533,334.00) Member (366,032.00) Member 366,032.00 Client (3,604,740.00) Member 3,604,740.00 Member (5,323,560.00) Member (8,872,500.00) Member 5,323,560.00 Member 5,323,560.00 Member	Sell Buy Sell Sell Buy Sell Buy Sell Buy Sell Sell Buy Buy
8:17:14 8:17:14 9:30:01 9:30:01 11:18:05 11:18:05 12:18:33 12:53:20 12:53:20 12:53:20 12:53:20 13:23:06 13:23:06	£ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/06/2015 £ / R 12/06/2015 £ / R 16/03/2015 £ / R 16/03/2015 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	11 11 30 30 20 20 200 200 300 500 500 300 200	11,000 11,000 30,000 30,000 20,000 20,000 200,000 300,000 500,000 300,000 200,000	17.7830 17.7778 17.7778 18.3016 18.3016 18.0237 18.0237 17.7452 17.7450 17.7450 17.7452 17.7398	(195,613.00) Client 533,334.00 Client (533,334.00) Member (366,032.00) Member 366,032.00 Client (3,604,740.00) Member 3,604,740.00 Member (5,323,560.00) Member (8,872,500.00) Member 8,872,500.00 Member 5,323,560.00 Member (3,547,960.00) Member	Sell Buy
8:17:14 8:17:14 9:30:01 9:30:01 11:18:05 11:18:05 12:18:33 12:53:20 12:53:20 12:53:20 12:53:20 13:23:06	£ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/12/2014 £ / R 12/06/2015 £ / R 12/06/2015 £ / R 16/03/2015 £ / R 16/03/2015 £ / R 12/12/2014 £ / R 12/12/2014	Foreign Exchange Future	0.00 0.00 0.00 0.00 0.00 0.00 0.00 0.0	1 1 1 1 1 1 1 1 1 1	1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000 1,000	11 11 30 30 20 20 200 200 300 500 500 300 200 200	11,000 11,000 30,000 30,000 20,000 20,000 200,000 300,000 500,000 300,000 200,000 200,000	17.7830 17.7778 17.7778 18.3016 18.3016 18.0237 18.0237 17.7452 17.7450 17.7450 17.7452 17.7398	(195,613.00) Client 533,334.00 Client (533,334.00) Member (366,032.00) Member 366,032.00 Client (3,604,740.00) Member 3,604,740.00 Member (5,323,560.00) Member (8,872,500.00) Member 8,872,500.00 Member 5,323,560.00 Member (3,547,960.00) Member 3,547,960.00 Member	Sell Buy Buy

Page 9 of 13 2014/10/28, 06:08:34PM

			Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:44:08	£ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	300	300,000	17.7270		5,318,100.00 Member	Buy
14:15:29	£ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	300	300,000	17.7419		(5,322,570.00) Member	Sell
14:15:29	£ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	300	300,000	17.7419		5,322,570.00 Member	Buy
14:42:18	£ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	26	26,000	17.7500		(461,500.00) Member	Sell
14:42:18	£ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	26	26,000	17.7500		461,500.00 Client	Buy
Total Futu	res				11		1,937	1,937,000			34 432 409.00	
Total Option	ons											
Total for £	/ R Foreign Exchange	e Future			11		1,937	1,937,000			34,432,409.00	
9:19:33	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.0067		(140,067.00) Client	Sell
9:19:33	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.0067		140,067.00 Member	Buy
9:23:54	€ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.7300		(147,300.00) Client	Sell
9:23:54	€ / R 14/09/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.7300		147,300.00 Member	Buy
12:38:12	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9956		3,498,900.00 Member	Buy
12:38:12	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9956		3,498,900.00 Member	Buy
12:38:12	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9956		3,498,900.00 Member	Buy
12:38:12	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9956		3,498,900.00 Member	Buy
12:38:12	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9956		(3,498,900.00) Member	Sell
12:38:12	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9956		(3,498,900.00) Member	Sell
12:38:12	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9956		(3,498,900.00) Member	Sell
12:38:12	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9956		(3,498,900.00) Member	Sell
12:43:36	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9893		3,497,325.00 Member	Buy
12:43:36	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9893		(3,497,325.00) Member	Sell
12:43:45	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9899		3,497,475.00 Member	Buy
12:43:45	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9899		3,497,475.00 Member	Buy
12:43:45	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9899		3,497,475.00 Member	Buy
12:43:45	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9899		(3,497,475.00) Member	Sell
12:43:45	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9899		(3,497,475.00) Member	Sell
12:43:45	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9899		(3,497,475.00) Member	Sell
13:42:48	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9944		3,498,600.00 Member	Buy
13:42:48	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9944		(3,498,600.00) Member	Sell
13:43:29	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9944		3,498,600.00 Member	Buy
13:43:29	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9944		3,498,600.00 Member	Buy
13:43:29	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9944		(3,498,600.00) Member	Sell
13:43:29	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9944		(3,498,600.00) Member	Sell
13:43:30	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9944		3,498,600.00 Member	Buy
13:43:30	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9944		(3,498,600.00) Member	Sell
14:30:05	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9993		(3,499,825.00) Member	Sell
14:30:05	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	250	250,000	13.9993		3,499,825.00 Member	Buy
15:40:00	€ / R 12/12/2014	Foreign Exchange Future	Р	13.50	1	1,000	1,737	1,737,000	13.3500		23,188,950.00 Member	Buy
15:40:00	€ / R 12/12/2014	Foreign Exchange Future	С	16.30	1	1,000	1,737	1,737,000	0.9600		(1,667,520.00) Member	Sell
15:55:19	€ / R 11/12/2015	Foreign Exchange Future	С	16.50	1	1,000	5,795	5,795,000	418.8600		2,427,293,700.00 Member	Buy

Page 10 of 13 2014/10/28, 06:08:34PM

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Premit Rate	ım Value Trade Type	Buy/ Sell
15:55:19	€ / R 11/12/2015	Foreign Exchange Future	Р	13.90	1	1,000	5,795	5,795,000	253.0100	(1,466,19	2,950.00) Member	Sell
16:09:51	€ / R 12/12/2014	Foreign Exchange Future	Р	13.50	1	1,000	1,737	1,737,000	13.3500	(23,18	8,950.00) Client	Sell
16:09:51	€ / R 12/12/2014	Foreign Exchange Future	Р	13.50	1	1,000	1,737	1,737,000	13.3500	23,18	88,950.00 Member	Buy
16:10:31	€ / R 12/12/2014	Foreign Exchange Future	С	16.30	1	1,000	1,737	1,737,000	0.9600	1,66	7,520.00 Client	Buy
16:10:31	€ / R 12/12/2014	Foreign Exchange Future	С	16.30	1	1,000	1,737	1,737,000	0.9600	(1,66	7,520.00) Member	Sell
16:16:40	€ / R 11/12/2015	Foreign Exchange Future	Р	13.90	1	1,000	1,447	1,447,000	257.0100	371,89	3,470.00 Client	Buy
16:16:40	€ / R 11/12/2015	Foreign Exchange Future	Р	13.90	1	1,000	1,272	1,272,000	257.0100	326,9	6,720.00 Client	Buy
16:16:40	€ / R 11/12/2015	Foreign Exchange Future	Р	13.90	1	1,000	43	43,000	257.0100	11,05	1,430.00 Client	Buy
16:16:40	€ / R 11/12/2015	Foreign Exchange Future	Р	13.90	1	1,000	1,272	1,272,000	257.0100	(326,91	6,720.00) Member	Sell
16:16:40	€ / R 11/12/2015	Foreign Exchange Future	Р	13.90	1	1,000	1,447	1,447,000	257.0100	(371,89	3,470.00) Member	Sell
16:16:40	€ / R 11/12/2015	Foreign Exchange Future	Р	13.90	1	1,000	3,033	3,033,000	257.0100	(779,5	1,330.00) Member	Sell
16:16:40	€ / R 11/12/2015	Foreign Exchange Future	Р	13.90	1	1,000	43	43,000	257.0100	(11,05	1,430.00) Member	Sell
16:16:40	€ / R 11/12/2015	Foreign Exchange Future	Р	13.90	1	1,000	3,033	3,033,000	257.0100	779,5	11,330.00 Client	Buy
16:19:49	€ / R 11/12/2015	Foreign Exchange Future	С	16.50	1	1,000	43	43,000	414.8600	(17,83	8,980.00) Client	Sell
16:19:49	€ / R 11/12/2015	Foreign Exchange Future	С	16.50	1	1,000	1,272	1,272,000	414.8600	527,70	1,920.00 Member	Buy
16:19:49	€ / R 11/12/2015	Foreign Exchange Future	С	16.50	1	1,000	3,033	3,033,000	414.8600	(1,258,27	0,380.00) Client	Sell
16:19:49	€ / R 11/12/2015	Foreign Exchange Future	С	16.50	1	1,000	43	43,000	414.8600	•	88,980.00 Member	Buy
16:19:49	€ / R 11/12/2015	Foreign Exchange Future	С	16.50	1	1,000	1,447	1,447,000	414.8600		02,420.00 Member	Buy
16:19:49	€ / R 11/12/2015	Foreign Exchange Future	С	16.50	1	1,000	3,033	3,033,000	414.8600		0,380.00 Member	Buy
16:19:49	€ / R 11/12/2015	Foreign Exchange Future	С	16.50	1	1,000	1,272	1,272,000	414.8600		1,920.00) Client	Sell
16:19:49	€ / R 11/12/2015	Foreign Exchange Future	С	16.50	1	1,000	1,447	1,447,000	414.8600	•	2,420.00) Client	Sell
16:24:00	€ / R 16/03/2015	Foreign Exchange Future	· ·	0.00	1	1,000	10	10,000	14.1800	·	1,800.00) Member	Sell
16:24:00	€ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.1800	•	1,800.00 Client	Buy
16:25:49	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.9444		8,332.00 Member	Buy
16:25:49	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.9444		8,332.00) Client	Sell
16:38:07	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.9450	•	9,000.00) Member	Sell
16:38:07	€ / R 12/12/2014	Foreign Exchange Future		0.00	1	1,000	200	200,000	13.9450	•	89,000.00 Client	Buy
Total Futu		r dreigh Exchange r diare		0.00	18	1,000	3,510	3,510,000	10.0400		6 074.00	Duy
Total Opti					12		22,596	22,596,000			4 680.00	
Total for €	/ R Foreign Exchang	e Future			30		26,106	26,106,000		5,926,63	0,754.00	
9:47:16	AU\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	150	150,000	9.7934	(1,46	9,010.00) Member	Sell
9:47:16	AU\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.7934	· ·	9,340.00) Member	Sell
9:47:16	AU\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	150	150,000	9.7934	1.46	9,010.00 Member	Buy
9:47:16	AU\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.7934		9,340.00 Member	Buy
9:51:11	AU\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.7907		9,070.00) Member	Sell
9:51:11	AU\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	150	150,000	9.7907	•	8,605.00) Member	Sell
9:51:11	AU\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.7907	•	9,070.00 Member	Buy
9:51:11	AU\$ / R 16/03/2015	Foreign Exchange Future		0.00	1	1,000	150	150,000	9.7907		88,605.00 Member	Buy
9:52:41	AU\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	150	150,000	9.9003		5,045.00) Member	Sell
9:52:41	AU\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	9.9003	•	0,030.00) Member	Sell
9:52:41	AU\$ / R 12/06/2015	Foreign Exchange Future		0.00	1	1,000	150	150,000	9.9003	•	85,045.00 Member	
3.32.41	AU# / IX 12/00/2013	i oreign Exchange rulure		0.00	'	1,000	150	130,000	a.anna	1,40	55,0 4 5.00 Wellibel	Buy

Page 11 of 13 2014/10/28, 06:08:34PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
9:52:41	AU\$ / R 12/06/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	9.9003		990,030.00 Member	Buy
14:36:06	AU\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	90	90,000	9.7188		(874,692.00) Member	Sell
14:36:06	AU\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	90	90,000	9.7188		874,692.00 Client	Buy
16:15:23	AU\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	90	90,000	9.6716		870,444.00 Member	Buy
16:15:23	AU\$ / R 12/12/2014	Foreign Exchange Future	0.00	1	1,000	90	90,000	9.6716		(870,444.00) Client	Sell
Total Futu	ires			8		930	930,000			9 116 236.00	
Total Opti	ons										
Total for A	AU\$ / R Foreign Exchan	ge Future		8		930	930,000			9,116,236.00	
16:08:11	CF CANDO CAFC 12/1	Can-Do Future	0.00	1	1	1,942	1,942	4.4100		(8,564.22) Member	Buy
16:53:44	CF CANDO CAFC 12/1	Can-Do Future	0.00	1	1	145	145	4.4100		(639.45) Member	Buy
16:53:44	CF CANDO CAFC 12/1	Can-Do Future	0.00	1	1	145	145	4.4100		639.45 Client	Sell
16:53:44	CF CANDO CAFC 12/1	Can-Do Future	0.00	1	1	1,797	1,797	4.4100		(7,924.77) Member	Buy
16:53:44	CF CANDO CAFC 12/1	Can-Do Future	0.00	1	1	1,797	1,797	4.4100		7,924.77 Client	Sell
Total Futu	ires			3		2,913	2,913			12 846.33	
Total Opti	ons										
Total for C	CF CANDO CAFC Can-D	Do Future		3		2,913	2,913			12,846.33	
16:08:11	CF CANDO CAFH 12/1	Can-Do Future	0.00	1	1	1,178	1,178	879.4900		1,036,039.22 Member	Buy
16:51:24	CF CANDO CAFH 12/1	Can-Do Future	0.00	1	1	482	482	879.4900		(423,914.18) Client	Sell
16:51:24	CF CANDO CAFH 12/1	Can-Do Future	0.00	1	1	480	480	879.4900		(422,155.20) Client	Sell
16:51:24	CF CANDO CAFH 12/1	Can-Do Future	0.00	1	1	482	482	879.4900		423,914.18 Member	Buy
16:51:24	CF CANDO CAFH 12/1	Can-Do Future	0.00	1	1	216	216	879.4900		189,969.84 Member	Buy
16:51:24	CF CANDO CAFH 12/1	Can-Do Future	0.00	1	1	480	480	879.4900		422,155.20 Member	Buy
16:51:24	CF CANDO CAFH 12/1	Can-Do Future	0.00	1	1	216	216	879.4900		(189,969.84) Client	Sell
Total Futu	ires			4		1,767	1,767			1 554 058.83	
Total Opti	ons										
Total for C	CF CANDO CAFH Can-D	Do Future		4		1,767	1,767			1,554,058.83	
15:28:47	CF CANDO CAFJ 12/1	Can-Do Future	0.00	1	1	4,362	4,362	224.3600		978,658.32 Member	Sell
16:47:24	CF CANDO CAFJ 12/1	Can-Do Future	0.00	1	1	35	35	224.3600		7,852.60 Member	Sell
16:47:24	CF CANDO CAFJ 12/1	Can-Do Future	0.00	1	1	1,359	1,359	224.3600		(304,905.24) Client	Buy
16:47:24	CF CANDO CAFJ 12/1	Can-Do Future	0.00	1	1	1,359	1,359	224.3600		304,905.24 Member	Sell
16:47:24	CF CANDO CAFJ 12/1	Can-Do Future	0.00	1	1	2,968	2,968	224.3600		665,900.48 Member	Sell
16:47:24	CF CANDO CAFJ 12/1	Can-Do Future	0.00	1	1	35	35	224.3600		(7,852.60) Client	Buy
16:47:24	CF CANDO CAFJ 12/1	Can-Do Future	0.00	1	1	2,968	2,968	224.3600		(665,900.48) Client	Buy

Page 12 of 13 2014/10/28, 06:08:34PM

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell	
Total Futures				4		6,543	6,543			1 467 987.48		
Total Opti	ions											
Total for CF CANDO CAFJ Can-Do Future				4		6,543	6,543			1,467,987.48		
16:08:11	CF CANDO CAFK 12/	1 Can-Do Future	0.00) 1	1	675	675	685.2300		462,530.25 Member	Buy	
16:51:54	CF CANDO CAFK 12/	1 Can-Do Future	0.00) 1	1	430	430	685.2300		294,648.90 Member	Buy	
16:51:54	CF CANDO CAFK 12/	1 Can-Do Future	0.00) 1	1	245	245	685.2300		(167,881.35) Client	Sell	
16:51:54	CF CANDO CAFK 12/	1 Can-Do Future	0.00) 1	1	430	430	685.2300		(294,648.90) Client	Sell	
16:51:54	CF CANDO CAFK 12/	1 Can-Do Future	0.00) 1	1	245	245	685.2300		167,881.35 Member	Buy	
Total Futures			3		1,013	1,013			693 795.38			
Total Opti	ions											
Total for CF CANDO CAFK Can-Do Future				3		1,013	1,013			693,795.38		
Total Futures			180		70,046		64,059,236	735 024 368.37				
Total Options				49		114,775		28 867 724 905.00				
Grand Total for all Instruments				229		184,821 178,834,			29,602,749,273.37			